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1. The economic rent eamed by any factor will
be the highest if its elasticity of supply is

(A) Equal to one

(B) More than one

(C) Zero

(D) Infinity

2. The circumstance in which the consumption

expenditure of individuals does not decline
with the decline in their income level is called

(A) Ratchet Effect

(B) income Effect

(C) Spread Effect
(D) Price Effect

3. Among the following accelerator is the ratio
between

(A) Induced investment and autonomous
investment

(B) Induced investment and initial

change in consumption-expenditure

(C) Change in income\and an initial

change in investment |

(D) Change in income and an initial

change in consumption expenditure

4. According to Ricardo's growth theory
stationary state is caused by
(A) Investment in Agriculture on inferior
land
(B) Low wages
(C) Investment in manufacturing sector
(D) Low share of rent of landlords
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5. Which of the following is an example of
positive externality in consumption 7
(A) Vaccination of a person with
contagious disease
(B) Smoking cigarette in a bus
(C) Construction of a new highway
(D) Smoke from a chemical factory

6. ldentify the four canons of taxation
advocated by Adam Smith from the
following :

(A) Equality, productivity, certainty,
convenience

(B) Equality, certainty, convenience,
economy

(C) Equality, certainty, simplicity, elasticity

(D) Equality, elasticity, certainty, diversity

7. Technological Gap theory is proposed by

(A) Karvis

(B) Linder

(C) Posner

(D) Vernon

8. The standard deviation ofithe sampling
distribution of means is known as
(A) Standard Error
(B) Sampling Error
(C) Specification Error
(D) Probable Error

9. If r represents co-efficient of correlation
between X and Y, .[1—r2 is known as
(A} Co-efficient of variation
(B) Co-efficient of determination
(C) Co-efficient alienation
(D) Co-efficient of association
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10. According to traditional theory of cost
which of the following statement is correct ?
I} The vertical distance between
Average Total Cost curve and Average
Variable Cost Curve is equal to
Average Fixed Cost
Il) Marginal Cost Curve intersects
Average Variable Cost and Average
Total Cost curve from below
i) Average Fixed Costcurve is horizontal
to ‘X’ axis
IV} Average Total Cost and Average
Variable Cost Curves are ‘U’ shaped
Codes :
(A) land Il are correct
(B) 1,11 and lll are correct
(C) I, land IV are correct
(D) 1,11, Il and IV are correct

11. How does kinked demand curve analysis
help to explain the price rigidity ? The firm
will

) Gain only a few additional \"O

consumers from a price redu
since the firm's competitors would
also reduce the price. (;b'

I} Gain few additional umers from
a price reduction since the rivals
would not fnlluw@

lll) Lose many consumers if it raises its
price since rivals would not follow it.
IV} Often find that MR = MC at the same

output level even after costs are
increased.

Which of the above statementis
correct ?
Codes :
(A) Only | is correct
(B) 1and lll are correct
(C) |, Illand IV are correct

(D) L 11, Hland IV are correct
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12. Which of the following statements are
true about the features of Keynesian
Consumption function ?

I) Consumption depends on income

Il) MPC is less than one but greater than
Zero

) APC falls with the increase inincome

IV) Consumption function is unstable
even in the short run

Codes :
(A) | only correct
(B) 1 and Il are correct
(C) |, hand lll are correct
(D) L1, Il and IV are correct

13. Structural change development models are
associated with

) Arthur Lewis
i) John Fei and Gustav Ranis
lll) Harrod, Domar
IV) Robert Solow
Codes :
(A) land !l correct
(B) Iland IV correct

(C) I, lland Il correct
(D) W, 1land IV correct:

14. The positive effects of International Trade
are

l) Widening of markets
1} Increased consumption
lll) Optimum allocation of resources

IV) Wider choice of commodities
Codes :

(A) L, N and IV are correct

(B) 1, land Il are correct

(C) I\, Il and IV are correct

(D) I, 1, lltand IV are correct
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15. According to Wiseman and Peacock
public expenditure increases in a

I) Smooth and continuous manner
) Step-like manner

I} Smooth and discontinuous manner
Codes :

(A) lonly
(B) Il only
(C) Bothland
(D) M only
16. The Stopler-Samuelson theorem analyses
the effects of tariffs on
Iy Production
l) Consumption
I} Income distribution -
IV) Terms of trade
Codes :
(A) 1only
(B) landli
(C) only (O'
(D) Mand IV

17. Among the following pmdu ﬁ levels of
which of the crops have ngt\ncreased after
1980s.

) Jowar
Iy Ragi

1) Wheat
IV) Rice

Codes :

(A) landll
(B) lland Il
(C) land il
(D) Mand1V
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18. Two regression lines Y on Xand Xon Y
will co-incide when correlation co-efficient

) r=0
y r=-—1
) r=+1

V) r=0.5
Codes :

(A) Il only correct
(B) lland il are correct
(C) lland |V are correct

(D) I, llland IV are correct

NOTE : The following questions consists of
two: One is known as Assertion (A)
and other is known as Reason (R).
Examine these two statements

carefully and select the answer toc

these items using codes giv

below : &
Jox
19. Assertion (A) : The cross el &:{ty of
demand @mur cycle
and pe@u s positive.

Reason (R) : Motor cycle and petrol are

complementary goods.
Codes :

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not
the correct explanation of A

(C) Aistrue but R is false
(D) A is false but R is true

D

*

AglaSem Careers

T

18. 0206 MHEE e Do esysyes, X 0 Y
o000 Y 8 X @0 Bodh> HANN0S Open
DOSBOB

) r=0
Nr=-1
M r=+1
V) r=0.5

£y :

(A) 1550 5860560
(B) 1350800 1 566052

(C) 1N S0dox IV 58305
(D) 1,11l IV 5861059
o
s“eﬁ'@@& £5%y20 BothH PAIS LOR &,
%

e 5L (e3esS (A) e Oodds ora) (R)
TEPHT LERIEo =BRcH. Ba
PHAFESoss 20800 Eod §&50
EDEDTAO BTN JONE WOXED.

Q)\’O‘

19. BOIES (A) 1 0765 DS S08a0 DTS e

3005 o etbots5 &srobs
GBS0 G0Cd0.
w0 (R) 1 e 28S000tw TS oy
$R9)20.
§&y:
(A) A 5080 R Bodr $6absd R, A &
BB DSes
(B) A So80% R Bockr 500058 AR, A ©
A0CDD 25882 37
(C) A 386050 5 R SOGHSE S°¢hH
(D) A $8C056 ¢ %9 R 586158


http://careers.aglasem.com/
http://careers.aglasem.com/

20. Assertion (A) : According to Keynes
money wage is relatively
flexible in the short run.

Reason (R) : Keynes argues that
workers do not realize
money illusion.

Codes :

(A) Both A and R are correct, R is the
correct explanation for A

(B) Both A and R are correct, R is not
the correct explanation for A

(C) Ais correct R is false

(D) Ais false R is correct

21. Assertion (A) : Monetary policy is
preferred to fiscal policy
to achieve external
equilibrium.

Monetary policy acts both
on current and capital
accounts of\balance of
payments.

Reason (R) :

Codes :

(A) Both A and R are correct and R is
the correct explanation of A

(B) Both A and R are correct, R is not
the correct explanation of A

(C) Aistrue R is false

(D) Ais false R is true
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22. Assertion (A):The determinants of growth

Reason (R) :

Codes:

in Harrod Model are S {%]

AY
&
and ( ﬂﬂ)

Determinants of natural
growth are growth of
labour force and growth of
technical progress.

(A) Both A andB are true, R is the correct
explanation of A

(B) Both A and B are true, R is not correct
explanation of A

(C) Aistrue R is false
(D) Ais false Ris true

23. Assertion (A) : Normally, a govern

Reason (R) :

Codes :

explanation for A

explanation for A
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24. Assertion (A) : The budget is both a
backward and forward
looking account.

Reason (R) : The budget contains three
types of figures — the
actuals for the preceding
year, the revised estimates
of the current year and the
budget estimates of the

following year.
Codes :

(A) Both A and R are correct, R is the
correct explanation for A

(B) Both A and R are correct, R is not
the correct explanation for A

(C) Ais true R is false

(D) Ais false R is true

25. Assertion(A): India’s Foreign Tratiewas
liberalized in India’in 1991.

Reason (R) : The then trade policy led to
corruption and inefficiency.

Codes :

(A) Both A and R are true, R is the
correct explanation of A

(B) Both A and R are true, R is not the
correct explanation of A

(C) Ais true R is false

(D) Ais false R is true
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26. Assertion (A) : Indian economy emerged
as dualistic economy.

Growth with distributive
justice is achieved in India.

Reason (R) :

Codes :

(A) Both A and R are true, R is the
correct explanation of A

(B) Both A and R are true, R is not the
correct explanation of A

(C) Aistrue R is false
(D) Aisfalse R is true

27. Assertion (A) : An unbiased random
sample can portray the

traits of the population.
Reason (R) : Every population has

characteristic properties

with limited variation.
Codes :

(A) Ais true but R is false
(B) A is false but R is true

(C) Both A and R are true, R isdhe
correct explanation for A

(D) Both A and R are true, R is not the
correct explanation forA

NOTE : Sequencing type : (28-36).

28. Arrange the following economists in the
chronological order of their contribution to
cardinal utility theory of demand.

l) Marshall II) Jevons

) Walras IV) Gassen
Codes :

(A) IV,1l,Mland ]

(B) IV,Iil, lland |

(C) LIV, lland lli

(D) I, 1,1V and Il
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29. Arrange the following Iﬁ the ascending
order of the co-efficient of price elasticity
of demand.

I) Demand curve which is parallel to
vertical axis

Il Demand curve which is parallel to
horizontal axis

ll) Demand curve which has the slope of
rectangular hyperbola

IV} Demand curve which is relatively in
elastic

Codes :
(A) LU IVandll
(B) 1,1V, 1lland |l
(C) LI, IVand il
(D) I, 0, M and IV

30. Arrange the following consumption
functions in the decending order of their
multiplier value.

) C=800+0.75Y
) C =500+ 0.5Y
i) C=2900+0.9Y
IV) C =100+ 0.25Y
Codes :
(A) L1 lland IV
(C) I, 1N, Yand IV

(B) 4,11, IVand i
(OPp 11,1, lland IV

31. |dentify the measures of development
from the following :

I Gross National Income
I} Percapita Income
lil) Changes in production and

employment
IV} Gini co-efficient
Codes :
(A) land i (B) landlil
(C) I, lland HI (D) Il,land IV

AglaSem Careers

29. 2265 656 A3l TED HeaEsves &8
ESRy J0PD0R 57600 Jong Wakwsw,

1) ¢35 SSroBEsLT &) Aol S
1) 5855 OPH SIS &y S50l B
) ooe e Somseaitmn sk’ & &srob

O
IV) o5 eEs dsrol do
g%, :
(A) 1,101, IV 50800 I

(B) 1, IV, 1ll:580%0 Il
(C) 1, I, IV&80xs NI
(D) 11, & W 350050 IV

30. 53800 IVADTK Horeo T HenE
DerSer505000) eSbiire Ehod® Eratusw.
) C =800 +0.75Y
"]‘ C =500 + 0.5Y
i) C=900+0.9Y
IV) C =100 + 0.25Y
£&, :
(A) 1,1, 11508050 IV
(B) 1, 11, IV3s8as |
(C) I, 11, 135080 IV

(D) I, 1, N 5080 IV
31. (@0t 55t T ool edS) Fesrssmes
FBoHOND.
l) Spo erdalrorabsm
I} $0:30 esorahso
) &8 Sobaks &l ghesed” 57ty

V) A Koeasson

68, :

(A) 1:35:8a0%0 1 (B) 150800
(C) 1, 5080 lll (D) M, Iisodoss IV
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D 0 6
- 32. Arrange the following grﬂw:h economists | 32, o 25503 38 egTR 8080 0 T
in the chronological order of development SCRoTe s S iS00S
of their theories. Hﬁm&@ ity
PN,
) Rosenstein an ) _5%5%5 S
iil) Leibenstein ) 888555
IV) Harrod 5
V) Soé
Codes : V)
(A) ILIV, land I 8%, :
(B) LI, MandIV (A) I, IV, 150805 I
(C) W, Il 1tand| (B) LI, Nisosoo IV
(D) 1,1, land IV (C) IV, I, 11508050 |
. , (D) 11, 11, I5oBoto IV
33. Arrange the following state taxes in the
ascending order of their revenue 33. &I05 26D S T TR D
importance. SSOTT (589 DSBS’ 08350,
) State Excise Duties 1) oIS oo
Il) General Sales tax 1) Toedesg B
lll) Taxes on vehicles ,ﬁmjﬂ DOOBD [y
IV) Stamps and Registration charges Q)\W} Froes $odax0 as@:ﬁ Sidgye0
Codes : C ’O‘ §E. -
P 2y
(i"-"i) IV, Ill,land |l @\ [A) IV, I, 1558050 I
(B) IV, lland | T (B) IV, IIf, Nl 50800 |
(C) 1,11, Mand IV o (C) 1, 1, Nl 50808 IV
(D) LI, IVandlll @ (D) 1, 1, IV S08a%o il
34. Arrange the following i ces in the 34. eoBTAAN (555 3599 Doaos §od
International Monetary System in RBOPIIIOB0 5 ER00S” e,
e pimivg oo ) S.D.R. e eSSt
n ction o S
) el 1) ©eo5eE, S553 Dy
il) Breakdown of Brettonwoods system ) 25830065 :
i) Smithsonian Agreement
| | SHaH oo 570,65 Sto
IV) Floating of major international V) mm% o UJ
currencies
Codes : &, :
(A) 1,11, Il and IV ' (A) 1, 11, Ho8axo 1V
(B) Il,II,IVand| (B) 1, 111, IV3obaxo |
(C) L, IV, land li (C) N, IV, I508cx%o Il
(D) IV, L land | (D) IV, I, 1508080 |
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35. Free International trade takes place under

) Preferential Trading Arrangement
) Free Trade Area
) Customs Union

IV} Common Market

Codes :

(A) I, lland Il
(B) I, Nland IV
(C) I, Nand IV
(D) land Il

36. Arrange the steps in order to test the
significance of the population regression
coefficient.

I) Compute the test statistic value with

degrees of freedom

l) Compare the calculated value‘with the
critical value

) Calculate the sample regression
coefficient and its standard error

IV) Arrive at the test result

Codes :

(A) L, v
(B) L1,V
(C) n, 1L, v

(D) 1,1,V

AglaSem Careers

35. eotgaal Ry TyXoin $od D $0jaE’
SOLSBD ?
1) Sredes; @orRgEe SO0
) S5 redess o
) $553 0HD6S
V) 5505 5705
85

(A) 1, 11 508ax0 NIl
(B) 11, 11508050 IV
(C) 1, 1N, 5900 IV

(D) 15p8akw I
36. s DHANSD Nesf TPEBiss $88015606°)
PFITOR0 SEBES0E’ esatysu.

l) IBoy SRS BOFT JroPgE JewSSo
Ke3oiseio

) 88,005 Jewdo $5.JendE Fentso
lll) SSDHN BSSS MHOeIs R TR 155 Fardy

88 0ti0
IV) 50gr $50ar drboistso

§E, :
(A) 1,1, 0,1V
(B) 1,11, IV
(C) I, LN, IV
(D} 1, L, I,I"q;'
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IR ) 0
NOTE : Match List-l with List-Il and selectthe | /%5005 : Both erdimred” D¢ eoTen gigcon,
correct answer from the codes given 0sed DTS woTrein ol hHeE'Y
below 0T e E80
37. List-1 List-1I 37. o —| e ||
- a. Perfectcompetition 1. Collusion of firms (559,65 Betimisnad) (Sugdmsisa)
b. Monopoly 2. Excess capacity a. SOYEFSsoTes 1. Hieros
¢. Monopolistic 3 Unifo _ S0F ooy
competition « WD PNCo b. DErgagsos 2. QKNS s
d. Oligopoly 4. Blocked entry c. Doy FeISotyeS 3. Digyw o
c : d. $0208 Jgsostoo 4, 5% D6° B0
a b ¢ d Gy :
A 2 4 2 1 (A) ; : :' T
B) 3 4 2 1 B) 3 4 5 4 ‘
Cy 3 1 2 4 © 371 2 4
@) 2 1 3 4 Q2. 1 3 4
38. Match the following : 38 eatsi80500.
List-| List—II D | hor -
(Consumption Function (c) Equilibrium (DDGIPK Sexsoo (€) (ng
Investment Level National Bogasaod ) N )
||'IE«UI'I'I'E L) =]
b= ; ool = :
a. C=200+0.8y and | = 500 1. 4,000 . SO =t SO0
b. C=200+0.9yand1=6000° 2, 4,400 | D ©=200+0-9ySodool=600 2. 4,400
c. C=100+0.75yand 1= 1000 3. 3.500 c. Q: 100+0.75y 20800 | = 1000 3. 3,500
d. C=1000+05yand|=1000 4. 8,000 d. C = 1000+0.5y 5080w | = 1000 4. 8,000
Codes : EEEO: "
a b c d @ o
A 4 3 2 1 W s 3 2 1
B 3 2 1 4 (B 5 = 1 4
© 4 3 1 2 © 4 3 1 2
©) 3 4 2 1 o) 3 4 2 1
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39. Match the following :
List -1 List-1I
a. Harrod-Domar Model 1. Input-output
Model
b. Mahalonabis Model 2. Shadow
price
¢. Leontif Model 3. One sector
analysis
d. Cost-Benefit analysis 4. Two sector
analysis
Codes :
a b ¢ d
A 3 4 1 2
(B) 4 3 2 1
ey 1 2 3 4
(D) 1 4 3 2
40. Match the following :
List—1 List—1l
a. Adam Smith 1. Balanced-budget
multiplier
b. Peter A. Phyrr 2.«Balanced budget
c. .M. Keynes 3. Zero based
budget
d. Treggve Haavelmo 4. Unbalanced
budget
Codes :
a b ¢ d
(A) 1 2 3 4
B 4 3 2 1
(C) 2 3 4 1
D)y 3 4 1 2

39, 228N,

oo -

AglaSem Careers

o -l

a. Sob-E5rbssoe 1. abd-aomEse

DI

b, SorerSDhSsorT 2. Tratr Steo
C. dalroedpssorae 3. 5 GoK e

d. S50 erey DE5ee

EEE:'J :

(A)
(B)
&) 1
D)y 1

B _w 2
AN W O B/SET

40. e 5GE50.

riee -1
a. et B
b. »eb 2. 6
C. 8.05.8%
d. 3oy

£, :

(A) 1
(B) 4-
(C)y 2
(D) 3

W W N T

4, Dotk Sorre IS

W W N =+ 0
N & = N

st B |
1. Hotodis 2GS Hesn
2. Hodods a)gef

3. Wiy e aged
4. QRS Gy

¢ d
3 4
2 1’(
4 1
14 2
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41. Match the following :

List-1

a. Availability theory

theory

List—-1l
1. Vernon
b. Product cycle theory 2. Kranis
c. Preference similarity 3. Posner

d. Imitation gap theory 4. Linder

Codes :

(A)
(B)
(C)
(D)

2NN - D

42. Which one of the following is not correctly

matched ?

(A) ASEAN :
(B) NAFTA :

(C) EEC

(D) SAARC :

43. Match the following :

List -1

o o oo

NABARD

Codes :

a
(A) 1
(B) 2
(C) 3
(D) 4

- - Wk T

- N W N o

W hE =N O

Lead Bank Scheme
Service Area Approach
Regional Rural Banks

N = kWO

N We W

1967
1994
1957
1975

W & = b Q

List-II
1. 1969
2. 1987
3. 1975
4.1982

AglaSem Careers

O
41, essdsBoRw.
dor - o~
a. B AToBin 1. 25
b. 39 BE osnn 2. B

C. @Ry oe grodin 3. 2P0
d. esostes Jovdo possn 4. doeh
555“'} a

a b ¢ d
A 1 4 2 3
B 2 3 1 4
C© 2 1 4 3
D) 4 A 3 2

42. & ofymredd’ DB 5O 2EG3eBE HBoNS 7

(A) ASEAN 1967
(B) NAFTA : 1994
(C) EEC : 1957
(D) SAARC : 1975

43. $0d T esthntoiudn.
o —| oIl
a. & wrot Besss» 1. 1969

b. SorEros gk 2. 1987

C. @rodol re e 3. 1975
d. %§ (NABARD) 4, 1982

68, :

a b ¢ d
A 1 2 3 4¥X
B) 2 3 4 1
© 3 2 1+ 47
D 4 1 2 3
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44. Match the following :

List—1

a. Binomial distribution 1. Laplace

b. Normal curve

c. ANOVA
d. Probability
Codes :
a b ¢
(A) 1 2 3
(B) 4 3 1
(C) 3 4 2
(D) 2 1 4

45. Match the following :

List~|
a. P(Type | Error)

b. 1-P (Type Il Error)

c. 1-P (Type | Error)

d. Type ll error
Codes :
a b c
(A) 6 3 4
B) 3 4 5
C) 5 4 3
(D) 4 3 5

List—l
2. R.A. Fisher
3. Pascal
4. K.F. Gauss
d
4
2
1
3
List—1l
1. Rejecting a true
hypothesis \C'o’
2. Not rejecting@
false hypggsis

. Level 6

confidence

R Mo

44, 8585050,

o =1
a. O5I gTesriadnd
b. Jgties g0
¢c. ANOVA
d. Sogr®
§E,:

a
(A) 1
(B) 4

€ 3 @
© 2,° 1

" E@%M
\ﬁm -1
1392. P (15 &%0 &%)

b
2
3

B N = W O

b. 1-P (15 5% &550)

c. 1-P (15 5% &55%)
d 11565 &850

£, :

(A)
(B)
(C)
(D)

£ N W O O
w ~ b W O
o W o s O

AglaSem Careers

gl |

1. EP‘E::E

2. RA.555

3. I8

4, 3, 9.0

W = N & Q

o =l

1. T 50%0ys
DS, B0

2. 50° S0%eyHRS
B, BoidE Fsco

4. 55563
5. 55000 ¥

o

N o -
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Read the passage and write answers for
Q. No. 46 to 50.

Reviving investment, essential for growth of
jobs and income, requires a three-pronged
approach that works through improving
India’s long-term growth prospects. First
government must ensure low inflation by
putting in place a framework for monetary
policy, fiscal consclidation, and food market
reforms. Second, it must put public finances
-on a sustainable path through tax and
expenditure reform. Tax reform requires a
GST, DTC, and more predictable tax
administration. Expenditure reforms must
focus on public goods, new designs for
subsidy programmes, and mechanisms for
accountability. India requires the legal and
regulatory frameworks for a market economy.
This requires repealing the old legacy laws
and creating state capacity to address market
failures. [Economic Survey: 2013-14, P. 29].

46. The immediate method of creating
additional employment in Indian
Economy is

(A) Ensuring low inflation

(B) Lowering interest rates

(C) Additional Government spean@
(B) Raising investment 0

47. |dentify the important thréeﬁsmnged

7o

strategies for reviving the javestment in
indian Economy,

) Low inflation
) Tax and expenditure reforms
ll) Overcoming market failures

IV) Reform of Legal and Regulatory frame
works

V) Introduction of GST and DTC
Codes :

(A) 1,1, 11
(B) I, 1, IV
() 1,111V
(D) I, IV, V

(o
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YO
85 BI03 ISA 5005 50 (46 - 50) (St

aTOB0E égsﬂang BV IODGBES, e
@éd)gﬁn esorald, eSS 3 555880 ; RGO
@mm@pm AN, 0L

T gEan EOTEIDNTH DD
D50, 5% DAsEes Sodawo essshes m::,:;r%

am::mm N G0, e o Tots Swpgds,
8D R DT TEOT ﬁmﬂw
DCITy DRNBIT® “esom f}obz’nm &ol. Jdow
50:3), 86 SO £ W 55 (GST) %
D5 IROFTHIY SrFodotdod eren N
JTOT ITRI0[B JSTSo Dahton &od. :5?:
Do), O HEESonT @Eﬁzﬁﬂg@m KJ@J&MWQ
GIr05080 T, g & Bo808 ers E‘Oﬁ:éﬁ@ﬁgﬁ&
DoTroBossed 5?-‘5 Wéz&a% ye3 B
DeIRDGBoIT BEIDHEDOS, gmm&wn 3 3&5&
foli OBSED a&é e @oT OS0OE S
Hero, 5% JPOOBBON D, SoDTHE
g f 1 Wﬁﬁ m%@%&g 5;53:;53
[Econ Survey: 2013-14, P. 29].

4&\% 30 556" 5D Gl SoyS THuRS
BHEe? oo

’ (A) G geeasion 5,51 d0tere BIeo
(B) 5¢; Bexiso BRosco
(C) 65D Sa0ds s
(D) exexdd Boisco
47. o086 @98 Ii59E” DERREIY YHSOYEEF
&R0 ;s;fm ST Jrgprdnoed ?
) @q__@fﬁﬁ
1) S0, BoB0KN 5505 Bo), St
) 558,65 Prversido eproNto
IV) SIC28 S00aXn ESoalsses Sg53
Ve Relar Ut
V) Oordes oo S5y (GST) S0doxs @i,
550y J2ogTEd (DTC) @334 2ene
5, :
(A) 1,110

(C) 1,1, IV

D

|L1‘_

(B) 11,11l IV
(D) 1L, 1V, V
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48. Assertion (A) : Food inflation is high in
India.

The Government has not
yet introduced reforms in
food market.

Reason (R) :

Codes :

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true, but R is not
the correct explanation of A

(C) Ais true R is false
(D) Ais false R is true

49. Low inflation rate can be ensured in the
economy by

) Increasing rate of interest
I) Decreasing rate of interest

lil) Increasing Government expenditure ch°

IV) Decreasing Government exmnd@e

Codes : ‘bg
(A) landll $9
(B) Nandil D

(C) MandIV @

(D) land IV

50. Expenditure reforms do not imply
(A) Provision of more public goods
(B) Increasing subsidy
(C) Decreasing subsidy
(D) Ensuring accountability

AglaSem Careers

48. BOES (A) 1 roEBENE" e (5Terasn
SPEIOT &ND.

28085500 &858 S0 8

R0, e 33 56K
08

505 (R) :

§, :

(A) ASobaro RBocr 50aa, R, Adwy),
SOAN SO

(B) Aodoiny RBor 0aisa, R, A dws),
HOAS DSGE SO

(C) ASOcsB R $0GL8A s

(D) A aao}g@ ¢ R 00610
49. B @%ﬂ“ﬁ; OIS SO 500
) ot
qﬁ? 56 Deniso Bowso
@,0) ) eniss 550050 PO
IV) (2085 S50 Shoido

§E, :
(A) 1080l
(B) 1150810 il

(C) MZ08axs IV
(D) 15060k IV
50. $o0 TNE" 3501 HoH,CEw SOBIO 2 ?
(A) b e Sigdo Sy
(B) Sfhdesn poidto
(C) sipdess Bhoscso
(D) ergmrabolio JTQoixso
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